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Massenträgheitsmomente
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Dickwandiger 
Hohlzylinder
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Dünner Stab
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Dünner Kreisring
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Dreieckscheibe 
konstanter Dicke 
d

m=ρd b h

J x
S
=

1
18

m h2 , J x
A
=3 J x

S

J y
S
=

1
18

m b2 , J y
A
=3 J y

S

J z
S
=

m
18

(b2
+h2 ) , J z

A
=3 J z

S

J xy
S
=

m
36

h b , J xy
A
=−

m
12

h b

Dünne Halb-
kreisscheibe mit 
konstanter Dicke 
d

d≪R

m=
1
2

ρπ R2 d , yS=
4 R
3π

J x
S
=m R2

(
1
3
−

16
9π

2 )
J y

S
=J x

M
=J y

M
=

1
4

m R2

J z
S
=m R2(

1
2
−

16
9π

2 )
J z

M
=

1
2

m R2

19.11.20

h/3

h

b

S x

y

b/3

A

S

x

y

y
S

RM


